FOR THE WINNERS’ CIRCLE.

USER MANUAL



PACKAGE
CONTENTS

1X Backrest

1X Seatbase

1X Wheel Base

2X Armrests

1X Neck Pillow

1X Lumbar Pillow

1X Full-tilt Mechanism
2X Magnetic Side Covers
5X Casters (Wheels)

12X M8 Screws (2pcs Spare Screws)
1X Long Allen Key

1X Gas Piston+Sleeve
1X Safety Cap



anda seal

ASSEMBLE

5.Connect Backrest Right Side 6.Connect Backrest Left Side
G U | D E Slide the right side backrest bracket down onto the right Push the left recline bracket up to align with the screw holes on
recline bracket. Insert M8 screws previously removed the left of the backrest. Insert the M8 screws, then tighten all 4
from the backrest and screw them in halfway. fully on both sides of the backrest using the Allen key provided.
1.Install Wheels 2.Install Piston and Piston Sleeve
Insert 5 casters into the socket bracers. Insert the gas piston and slide the sleeve over piston.

7 .Install Side Covers 8. Remove Notice Strap and Safety Screw
Align the magnetic side covers on top of the brackets of backrest Remove the notice strap, then take off the red screw on right
3.Install the armrests 4.Unscrew Backrest and they will snap magnetically in place. recline side by hand. This allows the recline to be used.
Screw on the armrests with 8 screws into the Remove the 4 units pre_insta”ed M8 screws on the Notice: the one with a gap is the right side cover. Note: well keep the red screw as it can be re-installed for child safety

holes on the back of the cushion (Distinguish the backrest.
left and right armrests)

> 03



anda seal

9.Insert the Safety Cap 10.Set the Chair Facing Down 13.Put the Chair UP

Cover the safety cap on this hole. This safety cap can be Gently lift the chair and set it facing downwards. Carefully tilt the chair into an upright piston while holding the wheelbase.
removed with the red screw to push it from the inside.

11.Attach Tilt Mechanism 12.Connect Base with Chair 14.Install the Lumbar Pillow 15.Install the Neck Pillow

Attach the tit mechanism to the bottom of the seat base Lift the assembled wheelbase and insert the position into the Place the lumbar pillow on the seatbase and close to the Fix the neck pillow on the top of chair through the elastic straps
with 4 units of M8 screws. Make sure the correct FRONT socket of the tilt mechanism. backrest.(Note:Different chair models come with different and buckle. (Note:Different chair models come with different
direction. Insert the screws in half and tighten fully after lumbar pillows-Big or Small) neck pillows-Big or Smalll)

them in place.

Congratulations! Your Anda Seat Gaming Chair has been fully assembled.

> 05



anda sea]

FUNCTION
GUIDE

Backrest Recline

First fully pull up and hold the tilt lever, then lean back slowly until the backrest reaches to your desired angle, then slowly
release the tilt lever back to its original position and lock it.

Armrests Adjustment Tilt Tension

Press and hold the lever to move the armrest up and down.  Turn the knob clockwise to loosen the rocking tension,
(Note: Different chair models have different armrest functionalities. anti-clockwise to tighten. Adjust it according to your weight
Check the Andaseat website for instructions on adjusting the armrests  and do not attempt to turn it past its maximum or minimum
on your specific chair model) points.

Armrest Width Adjustment

Loosen the M8 screws at the bottom of armrests.
Move the armrests to the desired position then
tighten to secure.

Full-tilt Mechanism

Height Adjustment: Pull the right lever up to adjust the height of the chair.
Tilt Lock & Unlock: Push the right lever in to tilt lock, pull it out to unlock
the tilt angle.

Height Adjustment

> 07



anda seal

SAFETY
INSTRUCTION

Recommended Size

Chair Size XS S L XXL
Recommended Weight <70kg(<154lbs) <80kg(<180Ibs) <100kg(<220Ibs) <120kg(<270Ibs)
Recommended Height <155cm(<5'1") <170cm(<5'6") <185cm(<6'1") <200cm(<6'5")

Precautions

1.Do not use chair for other purposes other than originally intended by the manufacturer.
2.Do not use the chair as a ladder.

3.We recommend to place chair on soft coverings when used on hard floor to avoid damage.
4.Chair is designed for flat surface use.

5.Chair is designed for single person use.

6.We recommend not to move the chair with objects on it.

7.Do not place the chair near flammables for the risk of fire hazard.

8.Avoid long time direct sunlight.

9.Keep away from fire or water hazards.

10.Use a soft dry cloth for general cleaning and maintenance of the chair. Do not apply corrosive chemicals on the chair.

11.Do not dismantle parts outside of original installation procedures.

Sit in the center Do not stand on Do not use the chair with Do not use rocking mode
of the chair. the chair. more than one person. over weight limit.
Do not push the chair Do not push down on Do not place all your Do not place your hand or
around when a person the backrest when a weight on the fingers near the recline

is sitting in it. person is reclined. backrest only. mechanism.

The chair should only be used as intended and in non-abusive manner.
For warranty information, please visit https://www.andaseat.com/pages/warranty
Have any question or need any assistance, please contact: sales-support@andaseat.com

> 09



